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Educational Institutions are the true seats of learning. The students, who are really
anxious to learn, can develop healthy habits only in the schools. In a school we are taught

how to move in society, how to behave with others and how to progress in life.
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(i1) Make hay while the sun shines

(ii1) Self-help is the best help

(iv) Work is worship
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ENGLISH - PAPER 1
Time Allowed : 2'/, Hours] [Maximum Marks : 100

INSTRUCTION : Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

This question paper contains FIVE SECTIONS.

SECTION -1
(VOCABULARY -20 MARKS)
PART -1

(1) Choose the appropriate synonym of the underlined word: B x1=5)

Even as a child Bharat had enjoyed playing with bricks. He would place one on top of the
other and make a soaring (i) tower. He liked to help the workers when they renovated (ii) a house
on his street and would try to figure out (iii) the plan of the house. Now as a man, he runs his
own construction company and is involved in the exacting (iv) work of building offices and guest
houses for large international companies .These companies are convinced that his
accomplishment (v) is the best that is available in the city.

(i) (a) wounding (b) rising (¢) increasing (d) flying
(ii) (a) repaired (b) constructed (¢) decorated (d) destroyed
(iii) (a) calculate (b) understand (¢) guess (d) decide
(iv) (a) tiring (b) perfect (¢) accurate (d) challenging
(v) (a) skill (b) achievement (¢) establishment (d) work
(2) Choose the appropriate antonym of the underlined word: Sx1=95)

Besides the two World wars, the 20" century saw several (i) regional wars which were full of
brutality (ii) with an irreverent (iii) attitude towards life in general. However, with the world economy
having improved in the 21* century we tend to feel we are living now as a privileged generation with
more comfort and less wars. But are we really a privileged lot? Do we not tremble in_panic (iv) every time
we hear of a bomb blast in a public place and are we not deeply worried when we hear of kidnappings and
murders for material gain? We will, and can be, a_privileged (v) generation only if all of us make a
meaningful attempt to respect human life and aim at living in peace, harmony and contentment with one

another, without fear and without ill-will or hatred towards anyone.

(i) (a) many (b) no (¢) insignificant (d) few

(i1) (a) humaneness (b) dignity (¢) generosity (d) kindness
(iii) (a) involved (b) considerate (¢) spiritual (d) respectful
(iv) (a) joy (b) indifference (¢) calmness (d) bravery

(v) (a) deprived (b) empowered (c) abandoned (d) incapable

[TURN over



PART - 11

Answer any ten of the following: (10 x 1=10)
(3) The common expansion of CCTV is
(a) Charged channel television (b) Closed channel television
(c) Closed-circuit television (d) Checked-circuit television

(4) Choose the sentence that is correct in its meaning:
(a) We will set sail for Japan next week.
(b) We will set sale for Japan next week.
(5) Replace the underlined word with its equivalent American English word:
If you take the lift to the tenth floor you will find the office you are looking for on your right.
(6) Which of the words given below can be placed after the word car to form a compound word?
(a) street (b) park (c) house (d) top
(7) What is the plural form of the word ‘locus’?
(a) locuses (b) loci (c) locae
(8) Attach a prefix to the word ‘taken’ from the list given below to complete the sentence.
She was __taken for his mother as the child looked just like her.
(a) un- (b) en- (c) mis- (d) dis-
(9) Replace the underlined word in the sentence with one of the phrasal verbs given below to convey
the same meaning.
I will_search the dictionary for the meaning of this word.
(a) look upon (b) look up to (c) look up (d) look at
(10) Separate the syllables of any one of the following words:
(a) agriculture (b) monument (c) duties
(11) Choose the appropriate word to make a meaningful sentence:
He likes to his favourite TV serial the whole hour.
(a) see (b) watch
(12) Construct a sentence using one of the words given below:
(a) earnest (b) earnestly (c) earnestness
(13) Reframe the sentence using the underlined word as a verb:
The teacher gave a definition of the formula through an illustration.
(14) Which of the two sentences given below conveys the following meaning?

‘They did not succeed in any other subject’

(a) These are the only students successful in the Mathematics test.

(b) These are the students successful only in the Mathematics test.
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SECTION - 11
(GRAMMAR - 25 MARKS)
PART -1

Answer ALL the questions (10 x 1=10)
Respond to the following as directed
(15) Which of the options given below will suit the following sentence?
(If the driver had been alert).
(a) the accident can be avoided
(b) the accident could be avoided

(c) the accident could have been avoided

(16) Identify the pattern of the following sentence:
He answered my question instantly
(aSVOA b)SVCA (¢) SVIO DO

(17) Choose the correct question tag for the following statement:
Students should be allowed to use the library everyday .................. ?

(a) Should they (b) Isn’t it (c¢) Shouldn’t they

(18) Complete the sentence:
No other girl in the classis ......ccovvviiniiiniinnnenn. Kamala.

(a) most clever as (b) more cleverer as (c) as clever as

(19) Choose the sentence which correctly conveys the meaning of the sentence given below:
Nobody can forget how India won her freedom.
(a) Everyone cannot forget how India won her freedom.
(b) Everyone can remember how India won her freedom.

(c¢) Everyone cannot remember how India won her freedom.

(20) Complete the sentence :
........................... the rain, the match continued.

(a) In the event of (b) In spite of (c) Because of

(21) Choose the correct verb form to complete the sentence:
He agreed ......cccoovvvenninnnene. me a computer.

(a) buy (b) buying (c) to buy

(22) Choose the correct phrase to complete the sentence:
The farmers were keen ........ccccvevevneinnnee the fields before the monsoon.
(a) for harvesting (b) on harvesting (c) to harvesting

3



(23)

24

Choose the appropriate article to complete the sentence:
I have brought you a collection of ............. award winning books of this year.
(a)a (b) an (c) the

Choose the appropriate preposition to complete the sentence:

The people stood ............ the road to watch the procession go by.
(a) across (b) along (c) on
PART -11
Answer ALL the questions (5x2=10)

Rewrite as directed.

(25)

(26)

@7

(28)

(29

(30)

From the context of the two sentences given below form a single sentence.

Anand heard that he had won the first prize.

Anand jumped with joy .

Rewrite this sentence using the passive voice:

I had sharpened my pencil and I had used it to sketch the diagram.

Rewrite this sentence in direct speech:

Pritam asked the shopkeeper whether he would exchange the defective torch which he had
bought from him the previous day.

From the context of the two sentences given below form a single sentence using the  If © clause.
The glass falls. The glass breaks.

Read the following sentences about Smitha’s family and write an observation in a single sentence
using any one of the degrees of comparison.

Smitha is 5 feet tall

Kumar is 4.5 feet tall.

Prem is 5.5 feet tall.

Nina is 3.5 feet tall.

Mohan is 6 feet tall.
PART - 111

Punctuate the following sentence : (5x1=5)

The teacher said be sure to turn off the lights when you leave the room

4



SECTION - 1III
(PROSE - 15 MARKS)
PART -1

Answer briefly any five of the following questions.
(Your answer should not exceed 30 words) (5x2=10)

(31) What was the beggar’s true identity? Why did Hughie mistake him to be a beggar?
(32) Why did art find a place even in concentration camps?

(33) What quality of character is expected to be inherent in a student?

(34) What will the future be if the Himalayan glaciers become ice-free?

(35) How is the world of domestic workers ‘invisible’?

(36) Describe how ringing of migrant birds is done.

(37) What were the contributions of the Cholas towards art and culture?

PART - 11

Answer in a paragraph any one of the following questions.
Your paragraph should NOT exceed 120 words (1x5=95)

(38) (a) How does Baron Hausburg prove to be a ‘model millionaire’?
(OR)
(b) Write a short note on ‘Bird Migration’
(OR)
(c) Trace the plight of domestic workers in our country and state what change in the employer’s

attitude could make their lives better

SECTION -1V
(POETRY - 20 MARKSYS)
PART -1

Quote from memory one of the following extracts. (1x5=5)
(39) (a) The first five lines of the poem ‘Migrant Bird’;
(OR)
(b) Five lines of the poem ‘Going for water

from ‘we heard, we knew........ to “...... a silver blade’.



PART - 11

Read the following sets of poetic lines and answer the questions given below each set Bx1=95)

(40) “A child sitting under the piano, in the boom of the tingling strings And pressing the small, poised
feet of a mother who smiles as she Sings”.
(i) Who is the child referred to here?
(if) What emotion does the mother display?
(41) “If you can meet with triumph and disaster;
And treat those two impostors just the same”

Why are ‘triumph’ and “disaster’ portrayed as impostors?

(42) “Now drops that floated on the pool

Like pearls, and now a silver blade”.
By these lines would you say that the poet and his friends saw the brook or heard the brook?

(43)  “Our knees tremble sorely in the stooping....

We fall upon our faces, ..........
Why do the children’s knees tremble?

PART - 111

Read the following lines from the poems you have studied and
answer the questions given below 5x1=5)
(44) “The globe’s my world. The cloud’s my kin.
1 care not where the world begins.
1 spread my wings through all the din....”

Pick out the rhyming words in these lines.

(45) “If you can dream and not make dreams your master;,
If you can think and not make thoughts your aim;
If you can meet with triumph and disaster;
And treat those two impostors just the same;”

Bring out the thyme scheme used in these lines.

(46) “But once with in the wood, we paused”
Identify the words which make this sentence an example of the figure of speech called Alliteration.
(47) “The reddest flower would look as pale as snow”.

Identify the figure of speech employed in this line.
6



(48) ‘O ye wheels
Stop! Be silent for to-day!’

Name the figure of speech used in the above line.

PART -1V

Answer in a paragraph any one of the following questions:
Your paragraph should not exceed 120 words. (1x5=5)

(49) (a) How does Lampman picturise a millionaire?
(OR)
(b) Describe the experience of the children who went to fetch water from the woods.
(OR)

(c) Bring out the efforts of the Shilpi in his attempt at shaping a raw stone into a sculpture.

SECTION -V
(LANGUAGE FUNCTIONS - 20 MARKS)
PART -1

(50) Read the passage given below and answer the questions that follow : 5 x2=10)

Discipline is the most essential virtue you should acquire when you are young. It is a complex
quality. It shapes your mind to religious, social and economic patterns when you grow up to be an active
citizen. At a young age, we do not realize the value of discipline, As children, we merely long for
unlimited freedom, without understanding the meaning of discipline. An athlete disciplines himself and
keeps himself fit. He refrains from smoking, observes good food habits and keeps good health..
Discipline increases the human energy and implies control, resistance and adjustment. Our energy is

saved and made vital for a good output.
Questions :
(a) The word ‘essential” means:
(i) necessary (if) important (iif) compulsory
(b) How does discipline aid a citizen?
(c) Why don’t children want discipline?
(d) Mention some ways in which an athlete maintains discipline.

(e) How is discipline beneficial to human beings?

7



(51) Identify and correct the errors in the following sentences: 5x1=5)
(a) My uncle is richest man in the village.
(b) Many people behaves rudely now-a-days.
(c) A American lives near my house.
(d) The dog fell along the river.

(e) Each of the cycles are damaged.

(52) Look at the picture given below and answer the following 5x1=5)

questions in one or two sentences of your own:

(a) What do you see in the picture?

(b) How many persons are on the bike?

(c) Do you think a bike should carry more than two persons? Give a reason for your answer.
(d) What would be the danger of riding triples on a bike?

(e) What would you do if you saw your friend riding a bike in this manner?



Reg.No.

ENGLISH - PAPER 11

Time Allowed : 2'/, Hours] [Maximum Marks : 100

INSTRUCTION : Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
This question paper contains FOUR SECTIONS.

SECTION -1
(NON-DETAILED - 35 MARKS)

(1) Fill in the blanks with the appropriate phrases given below to

form a complete meaningful paragraph: B x1=5)
Kumar watched (i) flying in a (i) and
remembered the time when he had see (iii) and his father had told him
that the birds had come there to stay only (iv) and would soon leave the

™)

()

(©))

and return to their home in the Artic.

(i) for a short while

(ii) the migratory birds

(iii) the place of their sojourn
(iv) nestlings in Vedanthangal
(iv) streamlined ‘V’

Read the following sentences and identify the character / speaker: S x1=5)
(1) “I will call you Goldy”.

(2) “I shall perform some magic tricks.”

(3) “Help! Save me from drowning.”

(4) “Atleast we could spend some time together.”

(5) “I’ve been in search of a model to pose as Judas Iscariot.”

Match the following appropriately: B x1=5)
(A) Judas - caught in a drain

(B) Kumar - clever little boy

(C) Mom - one of two figures for a painting

(D) Celine - young and enterprising

(E) Hubert - fond of playing the piano

- hid in the cupboard

[TURN over



(C))

(©))

Complete the following sentences choosing the correct answer

from the options given below: (Bx1=5)
(i) Mom allowed to keep the dog.
(a) Goldy (b) Shelly (c) Sam (d) Diane

(i1) The brothers started off the ride with
(a) athumbsup sign  (b) a wave of the fla ~ (c) a whistle (d) a gun shot

(iii) There were thieves hiding in the cupboard.
(a) four (b) six (c) three (d) five
(iv) The painter was trying hard to find a model for a painting of...............
(a) an artist (b) Judas Iscariot (c) abeggar (d) apoet
(v) Dad finally got an employment
(a) at a doctor’s clinic (b) as a clerk
(c) as a lecturer (d) with an auditing firm
Read the passage given below and answer the questions that follow : B x1=5)

With a shudder he once again turned to the window. The sky was dotted with birds
flying in a streamlined ‘V’! They seemed to be hurrying, every one of them of one mind as
if they had an important goal to pursue. It was that time of the year when the migratory
birds were returning to their homes after a five - month warm sojourn. He remembered his
childhood picnic with his parents to Vedanthangal, where he had seen flocks of birds
nestled among the trees. Dad had hired a telescope to give him a closer view of the nest,
where he saw tiny little nestlings-five of them! Dad had then told him that even though
these families resided here, they would soon go back to their homes far in the cold regions
of the planet. His father’s words rang clear in his ears “You see Kumar, though they have
stayed here for almost half a year and have enjoyed our climate and the food available, they
know that their home is in the Arctic. And there’s no place like home, is there?”

Kumar gazed at the flock flying home from where they had come. But slowly his
vision blurred as tears filled his eyes. ‘Home is where the heart is’ Kumar thought,
watching the birds till they were just specks on the distant horizon. Kumar left the room
with a sure stride and a strong determination writ large on his countenance.

(i) What was the ‘V’ shaped formation seen by Kumar?

(i1) What did the flight remind him of ?

(ii1) Describe what Kumar had seen amidst the trees while on his picnic.

(iv) What behaviour among the birds taught Kumar of the importance of ‘home’?

(v) What do you think Kumar had decided to do? Give a reason for your answer.

2



(6) (1-5) Study the given mind map and fill in the incomplete details. Bx1=5)

Shelley saw a He brought it
wounded dog home

He loved .the

dog
) The dog too
i ii to trace the owner
One day, a lady _ The dog’s real name
il v
The dog had to be given
v
back, as
(7) Answer in a paragraph any one of the following questions: (1x5=5)

(a) Narrate the story ‘The Face of Judas Iscariot’ in your own words
(OR)

(b) How did the close encounter result in bringing the brothers closer to each other?
(OR)

(c) Imagine you were Hubert and knew of the thieves’ plan to rob the house. How would
you have dealt with the situation?



SECTION - 11
(LANGUAGE FUNCTIONS - 15 MARKS)

(8) Make notes of the following passage and prepare a summary using the notes. (5+5 =10)

No study of English can be complete without a reference dictionary of idioms. A very
useful and easily available reference material is The Collins Dictionary of English Idioms.
This dictionary contains clearly explained meanings of over three thousand common English
idioms. To make the meaning even clearer, and to show you how the idiom can be used, each
idiom is provided with a suitable sample sentence . In this dictionary, the emphasis is on ‘true’
idioms. These are expressions whose meanings cannot be easily worked out from the words they
contain. The dictionary also provides a great many variations in the way these idioms are used.
The main emphasis , however is on providing an understanding of the meaning of the idioms,

rather than attempting to be a complete guide to idiomatic usage. (145 words)

(9) Complete the following dialogue appropriately. (Bx1=5)
Gautham : May I come in Madam?

(i) Teacher

Gautham : My bus broke down. So I could not come to school on time.

(i) Teacher : ,

otherwise she will mark you absent.

(iil)) Gautham

(iv) Teacher

(v) Gautham

SECTION - 111
(COMMUNICATIVE SKILLS - 15 MARKS)

(10) Write a dialogue with at least ten utterances between a shopkeeper and a customer
who wishes to get his defective watch exchanged. Q)

(11) Ramesh wanted to write to Mr Nagaraj asking him to be the Chief Guest for a function in
his school. He had the format of his letter ready but had yet to write the content.

Complete the content of his letter in about 100 words. )
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B City
3" November,2010
From
K.Ramesh
School Pupil Leader
XYZ Higher Secondary School
B City
Pin XXX XXX
To
Mr C.Nagaraj
Professor of English
ABC Arts College
K City
PinYYY YYY

Dear Sir,

Sub: Invitation to preside over the inauguration of Literary Association

Thank you
Yours sincerely,
K.Ramesh

(SPL)
(12) Prepare an advertisement on the information given below: &)
(a) Grand look  clothes shop  Aadi sale — 15% discount _ gents’ / ladies’ / kids’
apparels

(OR)
(b) New Millennium Bike — comfortable ride — sleek look — affordable price.

SECTION -1V
(EXPANSION OF IDEAS - 35 MARKYS)

(13) Expand the following headlines: Sx1=95)
(1) S.B.IL releases new coin-Big Temple Centenary
(i) India Wins Medals at CWG
(ii1) Heavy floods in Bihar, crops ruined
(iv) Students take up rally to create AIDS awareness
(v) Obama to visit India in November



(14) Study the pie-chart and answer the questions given below: B x1=5)
Mr. Krishnan's Expenditure

10%

30% O Savings
O Food
O Entertainment
30%
O Clothes
O Education
Rent
209
0% - 5%
(1) Mr Krishnan spends equally on
(a) food and education (b) food and clothes
(c) food and rent (d) education and clothes

(i1 State whether the following statement is true:
Expenditure on food and savings equals the sum of the expenditure on entertainment,
clothes and rent.
(ii1) The difference between the expenditure on food and savings is equal to that on :
(a) rent (b) clothes and entertainment
(c) education (d) savings
(iv) The expenditure on clothes is that on entertainment.
(a) greater than (b) the same as (c) less than  (d) double
(v) The expenditure on savings is that on education.
(a) twice (b) half of (c)equalto  (d) more than
(15) Write a paragraph using any one of the following outlines in about 100 words:
(6))
(a) It is better to prevent something disastrous before it happens. ~~ students
study daily lessons work regularly ~ avoid scoring less  family

save money avoid getting into debts take care of health

avoid diseases save money rather than spending on medicines
(OR)
(b) Trees wealth of a nation __ should not be cut down. Forests aid rain-fall
L natural resources students aim in life- planting of trees
encourage __ in schools, colleges, create
awareness in public regarding saving trees preventing

cutting down trees.




(16) Match the following products and slogans: Sx1=95)

(A) Wrist watch - Get set, go

(B) Jewellery - You are what you wear
(C) Clothes - The Magic of Words
(D) Pens - Dazzle and Sparkle

(E) Slippers - On your guard

- Wear and tear

(17) Observe the map given below and write the instructions required: Q)

You are near the park. A stranger asks you to direct him to a textile shop. Guide
him with your directions in about 50 words.

You — ABIRAMI
are TEXTILES
here HOTEL

m ™=

N

MAIN

(18) Read the poem given below and complete its paraphrase with suitable phrases in the
given blanks: 5x1=5)
Are Dry: Environment Poem by Moses H. Barbu
She told you to plant trees
and you paid her no heed
and now the taps are dry.

They released a water rationing schedule today,
a water conservation measure
you say, because the taps are dry.

You should have rationed your greed

and paid her heed, when she told you not to cut down forest trees,
but you did not see the wisdom of her pleas,

and now the taps are dry.



You did (i) to her when she told you to plant trees. Now there is no

(ii) . You tell me that (iii) to control and
distribute a limited supply of water in order to conserve water. You should have controlled
your greed and paid attention when she told you (iv) the forest, but
you did not understand how (v) . And now there is no water in the
taps.

(19) (a) Translation: )

(b)

A co-passenger on the bus you travel in has slipped and sprained his ankle. He wishes to go
to a hospital nearby. Someone gives him the instructions in Tamil. As he is new to Tamil
Nadu, he does not understand the language.

Translate the instructions into English to help him.

Cupngl HnSs550lmhgl 2 SsLt shd sremauilsy Crrmes Glgsuameain. sl Guflu
UM [flemeulliid eIELILMLD 2 6T6eTG. ISNG THCT STmmLE SLSSaD.  @IhSILeT
AURISSGL LSSSS0 2 6Tar ShdHled Hlempualn. @I gl UnSSle, @ITeTLmaig) &L LL LD L6
LO(Th&GI6LILDEMETTILIT (LD

(OR)

Look at the picture given below. Express your views on it in about five sentences.
Water scarcity and poverty —the inseparable twins
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Crib @ 2"/ Loew] [Gorgs wGiGLeETsHeT: 100

Y Dlejenr P Yeward G AeTTEHGHLD FAWTH LIFUTE 2 GTTHT 6TTLISEGT FHLITTS %
Q@mererayd. FHliLiIGaled GempudpLiier. enp  HevTaTeIILITeTAL_ LD
21 ergwirsd GClgflaldseLb.
Q)eillerTssTer BretTd Liflajsemer GFTeTL_ .

INSTRUCTION : Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

This question paper contains Four sections.
9Mey - 1/ SECTION -1
(gl Gluesraser : 15) / (MARKS : 15)

eoliy (1)  @Uuifells o erer 15 eflemdaens@d aflen_wiefldhsayLb.
(1) Oar@SsLILC_Berer Bresi@ fenl_safley sayd Fiwmer fen_cowd
CoipCs®S S oTWSo|Lb.
Note: (i) Answer all the 15 questions.
(ii) Choose the correct answer in each question. Each of these questions
contains four options with just one correct option. 15x1=15
(1) LetAd={1,3,4,7,11} wopmub B=1{-1,1,2,5,7, 9}eretra.
f={1,-1,3,2),(4, 1), (7,95), (11,9)} eresrpeurmy ojewrohs FaiLy f: A —> B eredriig)
(9)) PGT MISHS GPGTDITGIT FITITL| (<o) Grocd FrirLy
(@) @ByDSF FiTLy (FF) FITITL] 9J6h6v
Letd=1{1,3,4,7,11},B={-1,1,2,5,7,9} and f: 4 — B be given by
f={1,-1,(3,2),(4, 1),(7,5),(11,9)}. Then fis
(a) one-one (b) onto (c) bijective (d) not a function

2 6 1 54
2) 5252 125" 625 er6dr OLIhS@&HS OFTL_iT eurflengulflesr GlLIT & NFSLD

2 3 4
(275 ()5 (@) 3 ()3

| 2 6 18 54
The common ratio of the G.P. 5951257 625 is

2 3 4
@73 (b)5 ©3 D3
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3)

“4)

)

a,, a,, a, .... TGTLIGT @ Fal_(Hg GTL_T auflevFulleyereret. GLogyLb P
7
2 miliy
3
(g/)z (<) 0 (@) 12q, () 14a,
(14 3 th .
Ifa,,a,, a, ... are A.P. such thata— =5 then the 13" term of the A.P. is
7
3
(a) ) (b)0 (c) 12a, (d) 14a,

ox%y, Ix?yz, 12x%%z oy Gwieupflasr 185G Lo,
(<) 36x%%z (<) 48xyz> (@) 96x%)*2 (/F) 72xy%z
The LCM of 6x%y, 9x%yz, 12x%%z is

(a) 36x%°z (b) 48xy°z? (c) 96x2%y°2? (d) 72xy°%z

b=a+ c erasfley ax? + bxc + ¢ =0 161D FLoGHTLITL 19 DS
(<2)) OULouIOWIGEST eLPEVEIFHET 2 685 (R (<2}) eLPeUAIGFET (Q)eDemeV

((3) &FLD eLpaUBIFET 2 68T (h) (7F) eLpeuhiId6iT GLoUIGNLIGTTH6IT 9J6L6V

If b = a + ¢, then the equation ax? + bxc + ¢ =0 has

(a) real roots (b) no roots (c) equal roots (d) no real roots

11
(6) A x (0 2) =(1 2) eresfled. A-651 curflens

()

()2 %1 (94)2x2 (@ 1x2 ()3 %2

11
If A4 x (0 2) =(1 2) then the order of 4 is

(a)2x1 (b)2x2 (c)1x2 (d)3x2

Ty —2x =11 eretrp CrridGaHmL 19 6t Fmuiey

7 7 2 2
() =5 (24)5 @7 (/) =5

The slope of the straight line 7y — 2x = 11 is equal to

7 7 2 2
(@)-3 (b)5 ©> (d) -7

3
2

erasfled. 13aig)



®)

©)

(0,0), (1,0), (0, 1) eretrp LyciTerflsenen (LpeneTHETTHSG CIHTEHTL_ (LpdHGHTewsTSF6H FHDETeY

(o2 (24)2 (@) 2+2 ()2 =2
The perimeter of a triangle formed by the points (0, 0), (1, 0), (0, 1) is
()2 (b) 2 (©)2+42 (d)2 -2

A POR-60 RS eretriug) ZR-6i1 21" 1y @)m Foblau’1g. PO = 6 G#if, OR = 8 Gl¥.15, RP = 4
Q&5 eresfley PS =

() 2 Q&1 (94) 4 QF.16 (@) 3 Q.18 (F) 6 QF L5
In A POR, RS is the bisector of ZR. If PQ = 6¢m, QR = 8cm, RP = 4 cm then PS is equal to
(@a)2cm (b)4 cm ()3 cm (d)6cm

(10) AB wpmib CD  eretm @) pAadTHeT ah Ul L G&lesr 21" pioms P ereitp Lyerefiudled

)]

(12)

(13)

(14)

Oeu’ 19 & QamerHesipesr. AB="T7, AP =4, CP =2 eresfleb, CD =

(94 (<948 (@) 6 () 10
Chords AB and CD cut at P inside the circle. If AB=7, AP =4, CP =2, then CD =
(a)4 (b) 8 ()6 (d) 10

20 CaryrsGadlmps 28.5 15 H1usGd Blerm Qeramig ;i@ et GHrirslen
2 FGevw 45° appd CHTeTSSH) HTETHDTT. DjauhenL_w FHenL_Hlevevls Limreneud CHTE
Sl mpp s 1.55 2 wigsHle o 6irer g erestled. CamyydGlesr 2 wirtb

(2 305 (<) 27.5 18 (@) 28.5 15 (/) 277 L5

A man is 28.5 m away from a tower. His eye level above the ground is 1.5m. The angle of
elevation of the tower from his eyes is 45°. Then the height of the tower is

(a) 30 m (b) 27.5m (c)28.5m (d)27m

1

tan O+cot @

(<99 sin @+cos € (g)sinfcos & (@) sin @ —cos & () cosec O+ cot &
1

tan O+cot @

(a)sin @+cos @  (b)sin fcos 4 (c) sin @ —cos 0 (d) cosec 8+ cot 6

127Q.8° Oords Liglin) GlsmeTL_ Sy 9jeTHCHTOTSEIT UeHaTLITLIL]

(o) 67Q58 () 2470518 (§) 2670518 () 87 Q18

If the total surface area of a solid hemisphere is 1277cm’ then its curved surface area is equal to
(a) b7 cm’ (b) 2zem’ (c) 267 em’ (d) 8n em’

fov  Neugrusemlest gl HFFgmeFfl wpmibd G fevssd weopGuw 48, 12 eresfleb.
o piumC_ KGOS

() 42 (<) 25q (@) 28 (rr) 48
Mean and standard deviation of a date are 48 and 12 respectively. The coefficient of variation is
(a) 42 (b) 259 (c) 28 (d) 48

3



(15) A wopmib B eretier @)resr(h) oereopOmeT ni aflevs@id BlHLpFFFHET 6T6T. bblHLpFFules

1
FamOeuef] S, P(A) =§P(B) wpmib S=AUB ereflev P(A) =
1 1 3 3
(2)y (24)5 @)z (7)g

1
If 4 and B are mutually exclusive events and S is the sample space such that P(4) = 3 P(B) and §
=AU B, then P(4) =

1 1 3 3
(@) (b)5 (©) % Dy

ifley - 11/ SECTION - 11

eolliy (1)  usg NeTTsdsend:d oilen _werfldsayLb.

(1) ofeorr  eretor  30d@  sevwigliims ofew_welldseyb.  wpsed 14
et daen el mh 5 TCHenb 9 allermdsamerd Caiey GlFweLb.

(iii) eerGleurT(h alaTTalh@Lb (@)Te8r(® LG IO IcHT H6TT. 10 x2 =20
Note: (i) Answer 10 questions.

(ii) Question No. 30 is Compulsory. Select any 9 questions from the first 14
questions.

(iii) Each question carries Two marks 10x2=20

(16) A=1{4,6,7,8,9}, B=1{2,4,6} wihmub C=1{1,2,3,4,5, 6} erafleb A U (B N C) srresms.

IfA=14,6,7,8,9}, B=1{2,4,6} and C={1,2,3,4,5,6}, then find 4 U (B " C).

17y X={1,2,3,4} aretrs. g= {(3, 1), (4, 2), (2, 1)} etetrm 2 oy X-aSmpbs X-5& @b FTLITGHLOT

(18)

(19)

6TQT 9 Tiish. 26T GllewL_&5& TDm THEHLD H(THP.

Let X= {1, 2, 3, 4}. Examine whether the relation g = {(3, 1), (4, 2), (2, 1)} is a function from X
to X or not. Explain.

eLpesT ) eTevsTHeMetT AFHLD 2 1 5 1 T 6TeSE. (LPSHGUTLD 6TeWeT, (Q)TedoTL_TLh 6TevuTawsllad) (b gl T-gods
SLP1S ST QPG 6T6ET LOH MILD eLPGTMITLD 6TET YFNIGHT (1 Fnl’ (B OV BHTL_rTaurflenarenis
THUBSGTT. 2610)6GHT HOGT S &HITCHT .

Three numbers are in the ratio 2 : 5 : 7. If 7 is subtracted from the second, the resulting numbers
form an arithmetic sequence. Determine the numbers.

2 -3x—-1=0 GTGSID FLOGHLIML L9 GST eLPGUAIGGT & Lo mith f, eTesfley o — f -6b7 oGl 1eoLid:
&HITGB0T 5.

If e and g are the roots of the equation o -3x—1= 0, find the value of ¢ — g if a> f.

4



2 3 1 5
(20) 4 =( j - ( j eTesileh A-6r gnl' L 6b Gpiommy oyessflenwd Hresrs.

21

(22)

(23)

24

(25)

(26)

-9 5 7 -1

2 3 1 5
If4= - , then find the additive iverse of 4.

-9 5 7 -1
4 2
2 9 -3
4 -1 0 =6 7 |eretrp oyewilsafer QLmésemavs STes. (QLihES (P ULDTETT6)
-2 1
4 2
2 9 -3
Find the product of the matrices, if exists 41 0 -6 7
-2 1

Rh I L_gGeT ewiowib (— 6, 4). yelau’ 1 _SFeT eph oSSBT (b (LpeweT, G i eiTer

6768fl6Y, LoPOIDIT(H (LPEHETEOIT: FHITGET .

The centre of a circle is at (— 6, 4). If one end of a diameter of the circle is at the origin, then find
the other end.

N

D
AABC-6b DE || BC top mith 7 =

W [N

. AE=3.7 Q&5 erasfled, EC-g0 &Tetors.

AD 2
In AABC, DE || BC andﬁ=§ . If AE =3.7 cm, find EC.

Geaufled  FrIGg  audsliul L e getwmearg  seoguw et 60°  Garewtdeng
TOUBS HFD HI. eTessiiuiiest g FeunpBledmbs 3.5 L5 HTTsHE0 2 6Ter g erevfley, eressiuissr

BOTEHDHT FTGHT 5.

A ladder leaning against a vertical wall, makes an angle of 60° with the ground. The foot of the
ladder 3.5m away from the wall. Find the length of the ladder.

sin 0 cos 6

cosce 0 e O 1 er6trp wpHODT(HeDLLEOW B )i6y .

sin 6 cos @
osec ¢ sec 6

Prove the identity -

@05 Gevro Cri e’ 1 o (meweruler 9yrib 14 GF18 wopmib 2 wigib 8 GF.L5 eTavlled. jHet
GUEMGITLITLIL| HITGCUST .

A right circular cylinder has radius of 14cm and height of 8cm. Find its curved surface area.



27) wrsHerevrer b Fetsiod dnibiilett ojg FaHbmerey 44 15 wHmib 9ysest 2wiyib 12 15 eresfled
9 SBETLDT; FnlDLIGET FGIT DYGTEOGID FHITCHST .

The circumference of the base of a 12m high wooden solid come is 44m. Find the volume.

(28) wpmed 13 Quued eTevwrsaflssr i1 allevsssamsd Hents&)(hs.

Calculate the standard deviation of the first 13 natural numbers.

29) @ prewTwhIswer @Cr  FowsGd ESTELCUTE, YPFUL_FIOTH  PH BV
FlewL_LILGHEHTT HHLpSFNTd 5TV .

Two coins are tossed together. What is the probability of getting at most one head.

2
. . _6x —54
(30) (@) ;@ : x—2 N 7x_+ 2
[r6bev 5]

(<) 2y =4x+ 3 wpmub x + 2y = 10 erettp CrrsCarBser eett misGlsTett mi GlFhigd S eTavrs

STL_(H%.

2
6x —54

implify : =7 - .

(a) Simplify X +Tx+ 12

[OR]
(b) Show that the lines 2y = 4x + 3 and x + 2y = 10 are perpendicular.

ifley - III/ SECTION — III

@ity (1) 9 elerrdsend@ allen_werfldhasaLb.

(i) o&flewrr  eretor  45d@  sevwiglims  flew_wefldseyb.  wpHed 14
et dame Ol h 5 TCHenb 8 allermdsemerd Carey GlFUIweLD.

(iil) aGeuTh afeTTelDEGLD @bsl LG IG)LIGET 6. 9x5=45

Note: (i) Answer 9 questions.

(ii) Question No. 45 is Compulsory. Select any 8 questions from the first 14
questions.

(iii) Each question carries Five marks 9x5=45
(31) Qevetri_mseverts LiweTL®GH A\ (B N C)=(A\B) U (4 \ C) eresreyyib 1g LoMIToHesilehr aessr
ASGwirF alGullenestd FMlLimiTdseyLb.
Use Venn diagrams to verify De Morgan’s law for set difference A\ (BN C)=(A4\B) U (4\ C).



(32) gy f:[=7, 6 = R SLpdaesstL_curT ) eUemT MG (H6TeT .

X422+l —7<x<-5
Sx)=x+5 —5<x<2 . L9eTeuBeUGTOUDHEHMT; &HITCET .
x—1 2<x<6
. .. . 4f=3)+2f4)
D2A-4)+31A2 mA-7)-f-3 111
D 2f-4+3/2)  (A-7)-A=3) i) S e =3 10)
Y42+l —7<x<-5
A function f: [~ 7, 6 = R is defined as follows fix) = Yx+ 5 -5<x<2
x—1 2<x<6
4A=3)+2£4)

Find 0 2/-49+3/2  A-1-A=3) (i) =057

33) P2+ er6dTp QHTL_Mett Lpsed 2n 2 L1 jHeTGH Fn (b6 HITeor .

Find the sum of the first 2x terms of the series l2 - 22 + 32 - 42 + ...

(34) srpelliL®d 5% : x3 - 5)62 —-2x+24

Factorize the polynomial x3 - 5x2 —-2x+24

(35 m—-—nx+ 28)62 + 12)63 + 9x4 TSI P (PP QUITHELD 6Tastled, m, n YSieuDBIesT LoFiLFenard

FHITGOST .

Ifm—nx+ 28x2 + 12)c3 + 9)c4 is a perfect square, then find the values of m and n.

(36) yewFeupm Hilsd e QST _Her Ceusb wewfldg 15 &b eretrs, oyl
BpCrmL L _g&etr Hewaulev 30 G5 gryb GFermy, @ T&iTd HenFuled SapLors 4 oessfl 30
Bbl_migefled (Sevsr @b Lymiii’ 1 @i $Gh@ Spol aubsred Bilest Causdensdd; e s.
The speed of a boat in still water is 15 km / hr. It goes 30 km upstream and return downstream to
the original point in 4 hrs 30 minutes. Find the speed of the stream.

52 2 -1 r T T
(37) 4 Lopmb B = L erasfleL (AB) =B A eretrieng FALIMTSSaLD.

73

52 2 -1 r T T

If4= and B= verify that (4B) =B 4.

7 3 -1 1

(3B8) (=4, -2),(=3,-5), (3, - 2) wpmib (2, 3) Y&w Lereflsemer (penaTseTTsd OHTeRTL
BTDSHTSHEGT LITLIGHLIG: FHT6VT .

Find the area of the quadrilateral formed by the points (— 4, — 2), (- 3, - 5), (3, —2) and (2, 3).



(39

(40)

(41)

(42)

(43)

(44

AABC-etr  @pewestseir A2, 1), B(6, — 1), C4, 11) eretras.  A-ufleSlpbg  euengwiliLi(hLd
&S BIGCHTL 14 65T FLOGTLITL GOL_ &HITGHT .

The vertices of AABC are A(2, 1), B(6, — 1) and C(4, 11). Find the equation of the straight line
along the altitude from the vertex 4.

R Fmieuctt eweugsBletr &misG Geul (B Carmm eugaliled, L_GHev HrLl 19 weur i e
ul b OQeuigmer. @bug AE = 16 G5, EC = 81 Q&i8. gyeustt BD ereim & midh@s
GFFulleveTL LweTLIBSS N(BLOLFIDTGT, b@&HFGulesT Herib eTaieuT i (3555 Cauetsr(hLb?

A boy is designing a diamond shaped kite, as shown in the figure where AE = 16 cm, EC = 81 cm.
He wants to use a straight cross bar BD. How long should it be?

Crrd@gdbsrer @b wrdhler Geimad sThBlerTed wmlbs. obwpslbs UGS FCip
Nupb s A_mioed, rsHer 2 &8 segu_cr 30° Caresrdeons ahUbBSHFDS. LOFS G
2 48 9z6r g uiledmba 30 15 Ggrensvallsh sevgeniwid CBTHHD G 6T6vlled, LoT ST LpLY
2 WIT &b HIT6UT .

A vertical tree is broken by the wind. The top of the tree touches the ground and makes an angle
30° with it. If the top of the free touches the ground 30m away from its foot, then find the actual
height of the tree.

sefloesrenenTil LweTLIHSE) e omenteus 48 GlFib o wiruptd 12 GFLs yrapb G)Fmesre
Cri eu't  Zeverind dmibeniid OQFUISTH. ddailbenrs LOHOMT(H LOTeRTaIT G Hleveriod;
Carerioms LompplerTr. »jeieuTml wmHnLl L LG CHTerSSetT TdHensd: T s.
Using clay, a student made a right circular cone of height 48cm and base radius 12cm. Another
student reshapes it in the form of a sphere. Find the radius of the sphere.

GLpgamerL_ oy 1_auenenTuied GBTHGSLILIL (Herer LeTef afleugsFlesr S 1 aflevdsdensd
ST &) (B 5.

X 3 8 13 18 23

f 7 10 15 10 8

Calculate the standard deviation of the following data.

X 3 8 13 18 23

f 7 10 15 10 8

Rb YBw w&Hipeyb s (car) oysevient i g el InaTs b5 GLmib Bapssey 0.25
eretrsh. s wpewmuied 1AL LweTTL g DaETer all@p s Gumib HHpssey 0.35

opHmitd @) b HiseHd G mieusnaHTeT BlHpssey 0.15 eraflsh, obo&lipayb S

() sopbs s T5TS R A(BH G DIFD

(i1) Cr (m ap gl oL BId Gl mIHeD YFI B HLPIFFHGHEFTET [HlFLDSHF0 FEOGNT T FTGHT 5.
The probability that a new car will get an award for its design is 0.25., the probability that it will

get an award for efficient use of fuel is 0.35 and the probability that it will get both the awards is
0.15. Find the probability that

(1) it will get atleast one of the two awards (ii) it will get only one of the awards.

8



(45) (=) @B ®l @ud CsTiit aflosisr BSSBSS wpeTm 2 ililsefls fhBHD — 6
Lop mitb yeunmlest GLipdHDLIcVET 90. LDELPGIT 1)) 6TCVT HEHGIT > FHITGET 5.
[<rebev 5]

() 14 Q&b ol _wpib, 20 QF LS 2wF@ptb 260 W G(H 2 (heOeT @ilgal (LpHenaiuieh
uTgweney sevwentm 2.6ren &l 9Pl @Gr eralevrer 300 mw GeTHlHmaT eLpLpRHF
@b Guimgy bir o' 1 1b 2.8 QOF L5 2 wT&n ). s Gev® paiGleuretplesr il 1 ib

TG .

(a) The sum of three consecutive term in an A.P. is — 6 and their product is 90. Find the three
numbers.

[OR]

(b) A cylindrical jar of diameter 14cm and depth 20cm is half-full of water. 300 leadshots of same
size are dropped into the jar and the level of water raises by 2.8 ¢m. Find the diameter of each
leadshots.

Wifley - IV / SECTION -1V

@ildy (1)  @ruiflellsd oerer eaiGeurmn farTeleyb QeT® LoTHm N6 ThSH6T

QI ETHISSLILIL_(DETETGT.

(i)  epeiGeurn ofermalleyd 2 6rer @uer(® LomHm efeTTdhsefedBbH @b
ellerrenas CHibOSHS S5 @)1 NaTTSHEHSGLD el _iefldsaLb.

(iii) epeGleurT(h aleTTalhH@Ld Lid Sl oG IO IGHT H6iT. 2x10=20
Note : (i) This section contains Two questions, each with two alternatives.
(ii) Answer both the questions choosing either of the alternatives.

(iii) Each question carries Ten marks 2x10=20

(46) () 6 OFS yyupeTar e el 1D euedThsl s wsGelmbs 10 G&is
Osrevevaileyerer e  yeaTaflenwd  @BlGs.  liyeTaluledmb s el L SEHDG
QSTHCHTHHGT UGHT T DBGT HTHIZCHGT HeuT 5% (B,

(yebev 1)

(o) BC = 5 Qa5 ZBAC = 40° wpmud o245 A-mpbg BC-d@ euewgwilin’ 1
BOGCHTL 19 61 herd 6 QLS eretrn ojerayser Gamesr . AABC euengs. A-aSimib sl
UEHTWILILIL | & &H1GCHTL 19 66T [FETLD HIT6HT .

(a) Draw the two tangents from a point which is 10c¢m away from the centre of a circle of radius
6¢cm. Also, measure the lengths of the tangents.

(OR)

(b) Construct AABC in which the base BC = 5cm, ZBAC = 40° and the median from A to BC
is 6¢cm. Also measure the length of the altitude from A.



(47) (=) y=X —X — 8-65 auengiLiL b auenIhgl, osearts LTRSS X — 2X — 15 = 0 eratrm
FLOGTLITL 60L& BTHFHaLD.
(2J6L6V &)
(@) 9@ 5y g Guert 4 aep @ s5dmps B eem GL55be @ Frmer
CausgBled Cr auplullsd GleuaiGaum il seafled Liwewtid QFWIFDTT. 96Ut LIIGHRTLD
O#uizs Cousid, 5 HTTSHN S HI_5% T(hd 5% OFmewr_ Cryb yFlueieraiheomL
upplw efeughuser (Ceuss — Hmev) LissTeuhLd o' L euenenTuied GlbT(hdbHLiLIL (H6T6mer.

Gouastd (&.L65./1oewst] X 2 4 6 10 12

Cryib (Loessfluied) 'y 60 30 20 12 10

Gouds — &iTev UeMTLIL LD cuen b &l DJFeOHH S5
() et wenfld 5 &5 CaisdFled CFSTDT HTTH®BS HL_d% Y@L Liwewt GpryLb

(i)  yeur @E@EOINI L grydeng 40 wenfl CrrsHled sL_&5 615 CousbGled Liwiewids
Geveisr (@b

Y SNIIGTAINEODS; &ITE8T 5.
(a) Draw the graph of y = x* — x — 8 and hence find the roots of x* — 2x — 15 =0.
(OR)

(b) A cyclist travels from a place 4 to a place B along the same route at a uniform speed on
different days. The following table gives the speed of his travel and the corresponding time
he took to cover the distance.

Speed in km/hr x 2 4 6 10 12
Time in hrs 60 30 20 12 10

Draw the speed-time graph and use it to find.
(i)  The number of hours he will take if he travels at a speed of 5 km/hr.
(i) The speed with which he should travel if he has to cover the distance in 40 hrs.

10
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Reg.No.

mleflwed / SCIENCE

®WID wpnib SymBe eufl / Tamil and English versions)

Time Allowed : 2.30 Hours] [Maximum Marks : 75
Gmy : 2.30 weovof] [ownss wdlieuetorseT: 75
Ymleemr : Olemetisgl eflenineoeEnd FHlwnes LHeund 2 eTenHm  eTeOTLIHEWOT  FHLIMTSH SIS

Q\&METETEYLD, Slgsuudelled  GsmmuidpLilleot, Slewn  sevorsmevofiLiLMeNILLD

2 L evTipwings 6sflefsseaLb,
Qeuisilernsgmer apeirgy LflejEeners Gl merL g

INSTRUCTION : Check the question paper for fairness of printing. If there is any lack of

)

@)

fairness, inform the Hall Supervisor immediately.
This question paper contains THREE SECTIONS.

ifley —1 / SECTION -1
(g Cueser : 15) / (MARKS : 15)
Uiy (1) &miflefed 2 eten 15 efevmesEb&EGLD efenLiLelssa|LD,

(i) SlewLUys GHlulenet asMEHSLILLBeTen B Lmbn efenLsefled LoleeyLd
siflwner efemLemws CoHOSESS! 6TLPSELD,

Note: (i) Answer all the 15 questions.
(ii) Choose the correct answer from the four alternatives given in the brackets.
15x1=15

Bwpems Gsiey Camumenl GeuefudLeurt

(gnrmeveiv  Lmieedr, anflu,Gsn-e-eumfler, Slar  Ceanaeedr  GILDETOTL6D, SedT  UMIemL6ED
GDILDMITE )

Theory of natural selection was proposed by

(Charles Darwin, Hugo de Vries, Gregor Johann Mendel, Jean Baptise Lamarck)
UpkEs GLHmsSsE® WPpeHedlsd asn@EssULGL Crmis S6ELILLE

emi eul Gumedl@un, D.P.T., D.P.T. bomib GunedlGwm, BCG)

The first vaccine injected into a just born baby is

(Oral polio, D.P.T., D.P.T. and oral polio, BCG)
[@@wiys / TURN over



3)

4)

&)

(6)

™)

®)

)

LoGLD Sneupmisefieor LTedleOTl GLHESES WPemDUied HEMLOLMID PSHed BaLpey

(BOHOYNIHD. (PEOETEHSHED. LOOIBLD 2 (HeuTSHeD. LaNhes Gasens)

In sexual reproduction of flowering plants the first event involved in this is

(fertilization, germination, regeneration, polination)

STEUTRIGETED enFe0SHSH60T Li6vof

(Bewps BLESHIHED, 2 evuTemENs HLHHSHD, SIOGE SSlSms SLSSIHHN.  Shédleement
BLESIBED)

The xylem in the plants are responsible for

(transport of water, transport of food, transport of amino acids, transport of oxygen)

L&eDLDWS UM, Qeuliufensd LMHOLD WHNID Lell Qeulilngene ghuBssISnsi.
(emanLpegedr, SphHFR60T.  EDHLIREIT,  HMITLIOTEML. WIMTSHemED)
green house gas which causes climate change and global warming.
(hydrogen, oxygen, nitrogen, carbon di oxide)
QM sempsadledr gleeTmer LSIHevorGeoonsd  eufiGW LGB  esfleusenied  SidsenIFd
eTeoTLILI(BLD,
(2_co0TemIDS EEDIED,  FnlDLDEEHEDISE,  CISMMEISHED,  [HIT)

The particles in various forms are visible only under ultramicroscope. A solution containing such
particles is called

(True solution, collaidal solution, suspension, water)

pH = — log,((H).@® sepselen evamL e Slweniuier asmley 0.001m eefieo Siger oSy

(1, 3, 11, 14)

pH = — log,o(H"). The pH of a solution containing hydrogen ion, concentration of 0.001m
solution is

(1, 3, 11, 14)

BRIBLD 6Tedin  Hevfioonenig (Garmowns SemLliLg Seemed, &g &MOM Slededg [HpL6or
eflemevtfleug Sedemed, & Beweouded 2 _eieng),

(Bevliss Bemed, Gsribs [Hewed, &b [Hewed, 6umL| [HeweD)

Gold does not occur in the combined form. It does not react with air (or) water. It is in
(native state, combined state, mixed state, gaseous state)

8pevoiLnD e5NEGS SeofLomIseT 2 (BeoNEmI&6T 6TevTLILIBLD.

(enp, &ngoevor, SemLBemed, 2 6T SewL)

Second group elements are called

(alkali, alkaline earth metals, transition elements, minor transition elements)

2 (@515 / Turn over



(10) Slevemaedr GOELOLSHD 2 6em Wpsed GaribgHeor IUPAC awuwit
(me8e0r, mHemHEDT, MHGHET, S 1p6dl6dn)
IUPAC name of first member of alkyne is
(ethene, ethyne, ethane, acetylene)
(11) yeMiuglndled 50 &.8. Bewmujeiten LbevfiGevfledr eremL
(50N, 35N, 380N, 490N))
The weight of 50 kg person at the surface of earth is

(50N, 35N, 380N, 490N))

(12) 20gb weigemLieten &blufed 0.24 WeTGeoMLLLD 2 _(Heunsss CHemeuliBLd LeoTeoT LSS
Geaumiun®

(100V, 4V, 0.01V, 40V)

The potential difference required to pass a current 0.24 in a wire of resistance 20 ohm is

(100V, 4V, 0.01V, 40V1)
(13) wWleiBmevfieor SI Sl
(eg60, QeumedL, eunm’, SaqLb)
The SI units of electric power is
(Joule, volt, watt, coulomb)
(14) 2 Geones sLsHHUlDd UMD LWeTGMLLLD Slgenents & ®2 2 _HeunsELD.
@euu, e, sMHSLILEOLD, epSTedlens)
An electric current through a metalic conductor produces around it.
(heat, light, magnetic field, mechanical force)
(15) emlyer azmeme@HNHLUNed 2 6Tem Shlp
(soper Splp, Heeuememu Splo, G6 Ship, GSU Sble)

The Hubble space telescope design with two is known for good imaging performance

over a wide field of view.

(plane mirrors, hyperbolic mirrors, concave mirrors, convex mirrors)
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(16)

(17

(18)

(19)

ey — 11 / SECTION — II
(0L Quesrssir : 40) / (MARKS : 40)

&UlY : gGaeid @uUg eNeamesEnseE eenLiLieMssa|D
Note :  Answer any twenty questions. 20x2=40

GrMUSenETLLD OG0T &MIEUolGemeTLD QUNIEHSIS :

©) BsGLMGeomAwim -  S8s &8sz Swpuy

(&) eureofflwen Seofislumr -  Fosefed Srssd &5
(®) evaie - LDIT6m6D8&600T

@ Srssb 2 ednWITenLD - &5z Feuliuan) Hensey

Match the following : Diseases with simptoms

(a) Nyctalopia —  Profuse loss of blood
(b) Pernicious anemia - Bleeding gums

(¢) Scurvy — Night blindness

(d) Haemorrhage - Destruction of RBC

&Cr wndfluner SprenLwiiss, &CInGLNIGsMD Slewwllad a&HansmseuTser. EGLD
SO L eneuseneT SSHS CUNTHMS 6&BME00THB (PLPEMLDLILBSHS!.
(1) &Gr wndlwnerr SpLemLiiger
(Buhenswiner SpLenLuwiiseT, 2os@GelbslilrL SrLenLwITaEeT)
(i) Gp wndlwner SpLemLIwiigeT .

(GCaumiun@asenLer srevorlL@eut, 66T LnSiiner SlemLDlienL 2 _6mLUIGNTEET)
Identical twins are syngenic with similar chromosomal contents. Natural clones are those who
possess identical chromosomes. Fill up with suitable word given in brackets.

(1) Identical twins are (natural clone, induced clones)

(i1) Identical twins are (dissimilar to each other, similar to each other)

QENGHsLUILLGBeTm  LDeofls  cLpemeruiled LfledTeU(HLD
QFWeHemeT SLELULUGSHIHID LGBHemeT ‘S DOMID ‘S
610N GM&HS.

(©) mBTHH 2 _6TuTHD LGS

(&) uniremeu 2_60OTEHLD LGS

Human brain and the functions of different parts are given above. Mark the diagram (a) and (b)
(a) seat ofsmell (b) seat of vision
BLDBEHEUUIL. SndMIS6T SHeUnTes QL6 Ffwner smhrlenerr erLpgIs.
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(20)

21) esn@EssIULGSTeN LLSHMS 6UeDIHEl LIMTERISNeT GDlHSH6LD.

(22)

)

)
@
™

&peoun  eFdseT  Betaedlement 2 HusdH  OFLBeTmeor  OMID  SULm
GEBsCHENETENENT 2_MUSS 61FIIBTD60T

anmpGarnent CHML 6B HETEMLDMI GEDMHEDSI
emaLev &IUN @dp Beooib QOBHT&S

SleUUTL&LD (LPLEMLEEMETUILD 60T Cregement|ld 2 _puUsS SIS

Correct the statement if they are wrong.

(a)
(b)
(©)
(d)

Alpha cells produce insulin and beta cells produce glucogon
Cortisone supress the immune reponse
Thymus gland is a lymphoid mass

Ovary produces eggs and androgen

asnLmfeor SlgliuenLuied CamorL SLsems BLis:

G IME6roleoT SphEBemLd aDMTELEsT

S fleoredledt

Based on relationship fill in the blanks :

Thyroxine personality harmone.

Adrenalin

Draw the diagram and label the parts.

Anibrs HIEOIGLPD LGHUTD 2 6T6M CLPEITN) (PSS! LITBRISEN6TS ).

Write the three important parts of uriniferons tubules.

(23) QBNEHELLLIMHSEGLD LLSMS S6Uetiss.

24

(1) uub ‘& POHWHD S-S  HETOTLILEGLD G%

Bwssmisamens GUILLINGS.

Al &l B/ &

(2) eeeunm  BwssmsET  QSNLLTD  Hamimis

Bemevseriedn BWwissmIBeMedEHE!

GeumuGBeoTmenT?

Observe the diagram

(a) Mention the type of movements shown in Fig A and B.

(b) How does the movement differ from the movement of mimosa.

@mnmienbuieor SipliLenLuied &evorLmle:

C\FE0&HEIT
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(25)

(26)

27)

(28)

29

BUOMRIBEOLD : LD HHBSHET.  6l6U6T6UTED

Based on relationship fill up :

Whale : Baleen plates. Bat :

WTed eFs:

se Bss 2 mil

(1) Amibysid -
(2) miewpuiged -
Fill in the blanks :
Excretory organ -
(1) Kidneys -
(2) Lungs -

6uerfiLD6TOTL 60LD
CO,

QeuefiGbmId &6

Excretory products

()
3

(&)
@®

o VMO propriss

2
Yemg Lig

STEUTTRIGET
Atmosphere
CO,

3 (a)
Deconwn plants (b)

\ 2 (C)
Fossil

plants

“BpLbLLl

auDNE eueMD eTeiTUG QIF SWhens  GU6NLD.

shle|l aUTBLS6T

- Sent out as

1 wpmib 3ed &mevoTLIL@BLD BHLpFSEHemen

ET(LP&IS.

BsLbe) lee euempwim).
gGaemILd @b LpLb erfleiun pemern
SOILIGS.

Name the process noted as No.1 and 3.
Define the process.

Name anyone fossil fuel

8zemeor  Devlly  mISHTETEDT

Coussemzal. Geusons Swihens BHLpeermed LDMHDEOTLD”.

GLM&ETOTL.  FnDemD LIRSS, SHEUDTEUTST Slebedgl SFILNEIIST 6TTLemS 2 _MIFEFIL. HeUDNEH

8mpsned sfneT sanifleneors snmi.

A non renewable resource is a natural resource. If it is replaced by natural process at a rate
comparable or faster than its rate of consumption by humans.

Read this statement and confirm whether it is correct or incorrect. If it is incorrect give correct

statement.

&pmed GLpeomevoremipemw! efiurfl.

Describe : Energy conservation.

GursGeaursgl eUTEETRISEMeD LIWLTLBSSEID 6rMembeTaseT Wwimemed?

What are the bio fuels for transportation?
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(30

€2))

(32)

(33)

(34)

(35)

25°C  eauuBemeoufled  OFeflligul  HDIFQEESLD, OFNLLNSH  HDIFQUHSLD 266
Caumun@aenst Bp QEMESESILLG6TET GUILILS6T CLPEOLD 6TLDPSIS.

(&1) 16g NaCl 1008 Bified (&) 36g NaCl 1008 frfled

@My NaCl -et sempdmedt 368)

Distinguish between the saturated and unsaturated solution using the data given below at a
temperature of 25°C. (..... NaCl is 36g)

(A) 16g NaCl in 100g water (B) 36g NaCl in 100g water

208 semwed 2 Lewu 508 Bifled seorsSEnHsned Slbsmysed esmeler soels Benmenwis
BH600THH(BE.

Find the concentration of solution in terms of weight percent if 20 gram of common salt is
dissolved in 50 gram of water.

Bolis:

OlgmIHsL B erevor 6T.51T.
(1) e epesenm -
(2) rpemI cLpEDSHIRM) -
(3) epougml cLpevEEm D) -
(4) uedD SlED) ELPEDEHERM)
Fill in:

Atomicity E.g.

(1) Monoatomic  —
(2) Diatomic -

(3) Triatomic -

(4) Polyatomic -

8wy Spevoflemws sMBly s6OGLL Hemeosedlenyer emeusGLGUTE, HMOT s6OGUL gedr BmLD
LMMIBDEI? 2 .1b. uPIGHSTET eNeTHHESHMS SHITELD.
Why does the colour of copper sulphate change when an iron nail is kept in it? Justify your
answer.
I HOIFOllT emaDLITHemEd Slweroiulenr egfley 1.0 x 10°m  ereofied, @emyaedler pH
LBLemL  &600TBLIRESHELD.
The hydroxide ion concentration of a solution is 1.0 x 10~°m. What is the pH of the solution?
(I) embp 2 Geomsld LNEIESHILENT CHIHSTAILD SHDEG SrFHse0emel 6IedNm)| CILIWIT
UhGLsemer SlemLLLSDE UWeTUGLD Spssseoemnel
©) Ag-Sn 8pssseoem6y ©) Cu-Sn 8ussseene
(1) Vssemenuisd 2 etem 2 GevmEmIHeT
(Zn, Cu/Cu, Fe/Fe, Al/ Al Cu)

() Any metal mixed with mercury is called amalgam. The amalgam used for dental filling is

(a) Ag—Sn amalgam (b) Cu-Sn amalgam
(II) Metals present in brass are

(Zn, Cu/Cu, Fe/Fe, Al/ Al Cu)
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(36) &L HCl, &ur H,S0, o21et1 efeweoryfluyld &by S ANO;  Slbleosgieor

(37

(3%)

(39)

(40) 8uuLsBemenT EUMIHS SlFHeOT LGDHEWeT SHILLIGS.

(41)

(42)

eflemeotfleudedemen. er6oT?
Iron reacts with cone HCI and Conc.H,S0, acids. But, it does not react with Conc. HNO;. Why?
eneUILD SMTUEDIHLW LmEauDmIemD  eIEURIGEENd QEOTDNGLD. OIHE0T  HLP60TEHSHE0TEMLDESITE0T
SMJCOIHNSHSH Foll)|5.
Diamond is the hardest allotrope of carbon. Give reason for its hardness.
Bewm, eremL. Semeu GeTHIOBHS LDHADNETN eTeleumm CoumILBBTDSI?
Differentiate mass and weight.
(A) e gsliu@sSg : Speu emmLIRET LD Gefifl LweTUT@Eseled (LPpSHSUILDIEOTSHNELD.
R) smyevord : &g En@seflenLGw erefided LN SuwianeusHedemeD.

8860 swnenr euflems ergI?

(i) (A wbomp (R) SpevorBLd &l.

(i)  (A) seumi (R) &rfl

(iii)  (A) wopid (R) Bpevor@d seum)

(iv) (A) el (R) seumy
(A) Assertion : Liquid nitrogen is the most commonly used element in cryogenics.
(R) Reason : It is not legally purchaseable around the world.

Write

(i) Both (A) and (R) are correct

(i) (A)is wrong but (R) is correct

(iii) Both (A) and (R) are wrong

(iv) (A) is correct but (R) is wrong

Draw this diagram and label the parts.

GeumedLn LOledTHEOLD /

Volta Cell

LDILENDN ShHmed cLpeormideletT eLwiTEeT SGD STLILLBETONe. Sheurmed SleubmisT e SHeuml.
SeUDTeTaUDemD LI LU 1603 s.
@D OO, G Do,  Bifldr SHHDed, STMIBHEB SHODED. SleED  SHHDED,
Gupemed SHODED, Ledl - Slevted ShHmeD)
In the list of non conventional sources of energy given below, some of them are wrong. List out
the wrong ones.
(wind energy, solar energy, hydro electric power, nuclear energy, tidal energy, wave energy,
geo thermal energy)
1.5V Weeolwsd efens eanso. & LWletseenraeT Seb, 10gb, 15@ib  LletT&HemL &6l
wohnib smell Seuhewns OSMLINGS QHTETOTL @b LWledr &DMIL LLSHSneT 6UDTS.
Draw the schematic diagram of an electric circuit consisting of a battery of two cells of 1.5V each,
three resistance of Sohm, 100hm and 150hm respectively and a plug key, all connected in series.
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(43) oGeaaeendled GUMHeMedT [HeweemWW|D - QuUNdHewens  &MbHE  LIbusDHeoT  SlememeuiLd

QUNBSSIS,

ewngperfieor [Heweo HlbugPeor Sierey
©) 2Fs® Sluune - wgedleon Slemey QwLflwigi
©) 2F-ed - ABlwig
(@) F-&@Wb 2F-&6@0b SemLuled — ewngperiedr Sismey
™ @elww F-ed - eurfluig)
Match the following in the case of a convex lens

Position of the object Relative size of the image

(a) Beyond 2F - infinitive large
(b) At 2F - diminished
(c) Between F and 2F - same size
(d) At focus F - enlarged

44) em ©weoddar Gelwsstrb 15685 eeadedmng 1008.15. egnemeedsd LbuD
2 _eUoTLNE, QLNheT QeveiTdledlBhEl eTelevene) QFmemeveded emeussLLL GouetorBLD?
A concave lens has focal length of 15cm. At what distance should the object from the lens be
placed, so that it forms an image 10cm from the lens?
(45) GomerL SLmisemer BILLs:
(©) GunLnm: Beweossnbsed, eurevofiu fduleomeor GLomLLmi
(&) @ Qe Gells 6Bmemeey: LOLLT. SiGer Smeor
Fill in the blanks:
(a) For a motor: a permanent magnet, then commercial motor
(b) Focal length of a lens: meter, then for power of a lens
ifley — 111 / SECTION — III
(gluCuerssar : 20) / (MARKS : 20)
ey (1) Qeeeanm ueGSWOEHESLD @m e 6ish Brarg eNOmssEnHE
eflemL Wiefl&&ea)|LD,
(ii) eeleeuns eferTmeysELD @b LDSLIGILIETT,
(iii)) Gzemeuwineor SLMEis6Med LLLD 6UemIs,
Note: (i) Answer any four questions by choosing one question from each part.
(i) Each question carries five marks.
(i) Draw diagram wherever necessary. 4x5=20

u@H — <& | PART — A

(46) 2wl esmpledmLuefwedled HiEvoTEODUNT GLHSSLD, LTLUTGSET SC QsMBHSLILILBeTemer.
Fnlbgl Heuetlisg eflemLwiafl&Ea|b. QeaIeUTETHINSNET LIWIETSEEneNs Jnm).

2 uiiT eTdliy QMBL&6IT

2 uin embledmiueiuied
Hl6ooTeTIUTIT  GILI(HEESLD
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(47)

(48)

(49)

(50)

List the recent advances made in bio-technical field through a chart.

Anti-Biotics

2 _miseT uGSuied Georflwm ugedujeteng.

©) 8semeris HLELULGSS 26T uGHuler 2 Ml SlEUDTEEEEE SH&HS SbEeonsene
GULDTRIGS.

(&) wCeorflwmedleor sflwmeor Crmiu SiPlGmHlasmer CaMHASBSSE! 6T(LDSE.
(&efit, EE&SD WOHMID &G smiFss, GUS)

There is a widespread outbreak of malaria in your area.

(a)  Suggest some controlling measures to the local authorities concerned.

(b) Pick out the right symptom for malaria.

(chill and shiver and a rise in temperature, diarrhoea)
ugsl — g / PART - B

U&GLD sneupmhisefied HemLoUMID umedlleorl eumss Wpenpuied FEUELD Spevor® BoLpa|semen
TLDBIS.

©) oo Bspe] OHMID SleunmleT euenssenen el

(&) Olgeficdl HEoTEHLD SEMLDEBEN6T 6TLDSIS,

Write the two events involved in the sexual reproduction flowering plants.

(a) Discuss the first event and write the types.

(b) Give the advantages and disadvantages of that event.

o argemLul LUGHuled BT SLGUUMLIETTEd LD&SET SleuBwienLBoniser. erenrGey, B
BLELLIMLIQD6TSH HeXlTHES 6CT6ITE1E0TEITEN (LPEDMBEMENE EDSWITETENT?

In your area there is scarcity of water. Due to this the people are affected. So what are the
measures to be taken by you to meet out the scarcity of water?

uggdl - @ / PART - C
(&) SEMIGEHEBHGLD LPOGENIGELGD 2 6Tem CaumunBsemer SiLLeNenetoTlLGSHS!S.
&) 12.046 x 10” gpeoéanmisenets &M SMATSSD 2 _6Tem GLMEO&EMETS HETHESBE,

(a) List out the differences between atoms and molecules.

(b)  Find the number of moles in copper containing 12.046 x 10** molecules.
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(D

(52)

(53)

@)
()
(a)
(b)

)

(&)

(a)
(b)

)

()
@®)

(6]

(a)
(b)
(©)
(d)

6TELIT&EGSHED 6T60TDNed 6T60Te0T? SlHeor Ceud eflemetTemil 6N(LPHIS.
THSE0TTE0l60T ST6voT(® LILIEITEHE6T 6T(LDSIS.
Define esterification. Give its chemical reaction.
Write any two uses of ethanol.

u@gl — 7 /| PART —D
BupLesfeor  pged Swss efd efemsuledr Uetoreml  ellensGEDE.  S&snbHemD
BumMULLGSS1s.
108.8., 208.8. Beomuwjeten ouMBLEET wpewm@w 10ms ', Sms ' GoussBed OFeaIEDSLI
uLlb sM@Gémg. Slemen GCnds esnetdsomerr. GnsedlenT@GUNE Slewer QOSML(BE
Qanetepd Grb 2 efleommpser. GLMsGEL 6T Slemey wWwedmGW  12ms', dms
GeumgFed QFedBe0TmET 6Tevfled, [, [L@euDemms: HTevoTs.

5m/s F 4m/s

10m/s _i = 12m/s
(o)

Newton’s first law of motion gives a qualitative definition of force. Justify.

5m/s

55

The figure represents two bodies of masses 10kg and 20kg and moving with an initial
velocity of 10ms™ and Sms™ respectively. They are colliding with each other. After
collision they are moving with velocities 12ms™" and 4ms™' respectively. If the time of
collision be 2 sec, calculate F'; and F,.
eueLLIMSHH60 2_eiterm LULSEWS
LOeooT(BLD EUEmTS.

&luLb ePuiGeus

ULSHED (PSHSWILDTET  LITGBRISEDENE
GMl&sH6LD.

8&angHeuTLD aBs  HHHeUSDET
SlglienLuied Q&WOLGBEDSI?

Re-draw the above diagram.

This diagram represents

Label the parts of the diagram.

Write the principle of the device denoted in the diagram.
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LJ. 6T600T
Reg.No.

Faps Ymledlwed / SOCIAL SCIENCE
(®BUID wonIid SpmBe eufl / Tamil and English versions)

Time Allowed : 2'/, Hours] [Maximum Marks : 100
Gmow : 2'/, wewofl] [ewnss dleesoraer: 100
Ymleemr : Olemetisgl eflenineodeEnd Filwnes LHeund 2 eTenHN  eTeOTLIHEW6OT  FHLIMTSH SIS

QsmeTeneyLdD,  SlF&LULSeND  Gewpwidpliiedr, Slemm  SevorsmevofiliLmentlLLD
2 L evTipwings 6sfleNsseaLb,
Beueersgnet ep Lflejsemer Q\snevorL gl

INSTRUCTION : Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

This question paper contains SEVEN SECTIONS.

96y - 1/ SECTION -1
(gl Cuerssar : 24) | (MARKS : 24)
ugdl — 1 / PART -1
(1) ywarsg eflarmd:sers@w aflenL wefld:seaw 14x1=14
(i) Fflwrer el ulenar C5iB6ls PSS TUPSIS
(i) Answer ALL the questions.
(i1)) Choose the correct answer

(1) Yepers SpsdnPul euectoiss Gipemeu Bniewieurt

(&) uBevmmedrambd eqmud (&) smeouL

(®) ugeoromLd eyrud (™) 1p.9gmerom

The French East India Company was established by

(a) Louis XIV (b) Colbert (c) Louis XVI (d) De Brazza
(2) Qung Spneieull UetofwimenT &FLLLD Q&HMevor® eupLiLLL Shevor®

©) 1856 (&) 1857 &) 1858 @) 1859

General Service Enlistment Act was passed in

(a) 1856 (b) 1857 (c) 1858 (d) 1859
(3) @ndwneett (pFHed LDOHMILD HEMLH SHEUTEDTT E1LEOTTED

(&) eyevor. GurLeor gy (&) Coep

®) Sung@smumeongamfl () sngnesm

First and last Indian Governor General of India is

(a) Lord Mount Batten  (b) Nehru (c) Rajagopalachari (d) Kamaraj
[Batiys / TURN over



(4) ode BHHw wsefi LIBEE HeOLOLUDD SLLD
(&) yeorm (&) ubumil &) sneomn () sgmgm
All India Women Conference was organised at

(a) Pune (b) Bombay (c) Thane (d) Satara

(5) &ne SlemDLINEdT (LPHEL ELINHIE GFWIEONEITIT
(&) gdedrevT (©1) Spepnedt @) CGami Shevredr (1) HNHS
The first Secretary General of SAARC was
(a) Jinnah (b) Ashan (c) Kofi Annan (d) Gandhiji

(6) Coiiped SYHeMETUILIHEE SemerornG SHSMILD C\STevoTRIBLILIeUIT
©) e wrfdsin BHLS (&) 2 &5 BHwein BHALS
(®) wreuL BBuS () nedevSErL
The status of Election Commissioner is equivalent to that of the

(a) High Court Judge (b) Supereme Court Judge
(c) District Court Judge (d) Magistrate

(7) msrGanmse efflliysmrie ghUGSSsHampl SLLnsefs e
(&) euetr D&M 2_HFeULD (&) SHuuGBregeor 21
@) ausspss HevoTEMLS () pregpmegeor 1000

One of the schemes to make Consumer awareness

(a) Vana Mahotsava (b) Operation 21
(c) Trade Fair (d) Raja Rajan 1000

(8) 8npdwneisr FEGeu GlsebID s (WPpeHWw Sibss Csn® [i{CIEDTIL: 125F: )Y T8
(©) Sssmuns (&) Sevsnuns (&) ewensmuns () eenprRISILINS

The most centrally located meridian of India passes through

(a) Ahmedabad (b) Allahabad (c) Hyderabad (d) Auranghabad

(9) 6BaTCLNG UEGBUSSTDN SensHE SeWEUTLING SleMLDHSIETEN LDEDEDS6IT
(&) Spyeauedadl (&) snsLom &) eNpBwim () emLD&EHTEDT
The mountains which lie parallel to the direction of the south west monsoon is
(a) Aravali (b) Satpura (c) Vindhya (d) Maikala Range
2



(10) Bemeowineor 2_evoreyll LUANT&HET

©) oiflfl boHmib CsnglemLd (@) emu9 wpmib GHuleneo

®) umEss WOMILD FevoTed (F?) ULDMRIGET LDOMILD SMiLISIl&EeT
The staple food cropsare

(a) Rice and wheat (b) Coffee and tea

(c) Cotton and jute (d) Fruits and vegetables

(11) genLseafiaid gisafigid Swphens 5655 SASsHHLLG

©) B rsemLS6d (&) BledsUpL L eUeTLPMISHED

(®) sMhm| LDIEEnLS6D () 66b) LDMEEmL&6D

Natural nutrient enrichment of streams and lakes is

(a) Water pollution (b) Eutrophication (c) Air pollution (d) Noise pollution
(12) BM@ eUBLOMETTHNS HETOTESBLD (LPEDMESB6T

) 2 WemmseT (&) 3 WpemmseT &) 4 WpewmsaT ) 5 WpemmseT

National income of a country can be calculated by

(a) 2 methods (b) 3 methods (c) 4 methods (d) 5 methods
(13) 8pdwneled S &G SleMDSHSLILLL Shevor®

(©) 1962 (&) 1950 &) 1956 @) 1949

Planning Commission of India was set up in the year
(a) 1962 (b) 1950 (c) 1956 (d) 1949
(14) ybisnen SwsssHams OSHTLIRIBWLIET

(&) ampuwIpsnee HATTULIET0T60T (&) geuanreoned Crbah

@) spFenmu eGermunGeu ) LnaLr. pnCgpdy Upsns
Bhoodan Movement was started by

(a) Jaya Prakash Narayan (b) Jawaharlal Nehru

(c) Acharya Vinobhabhave (d) Dr. Rajendra Prasad

u@g) — 11 / PART — 11
Qur@sgis ! MATCH THE FOLLOWING

Bw earrssErs@Gw oflen weallssaw 2x5=10
Answer BOTH the questions.
(15) (1) ©) eswer efededlund II - 8mdeonmhgl
&) &heh FremL — &eumbl SWINeHS &FIeveusd
@) &ymued efbmeoTll LiemL — WpGemedlevliuiedr E\&MevoTLTaH6T
@) ©Obs FOWSHHT LDTIENT QTSI —  @iggriLeofl
(@) 6ips sID SiedTemeot — LOSLIT (PHSI60L&LS Ll

— LM&LIT 6r6M0. &BLDMLDLITGT
— pBemedlevflufedr Spsdll Hmeusd LEmL



(i)
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Kaiser William II

Black shirts
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Martin Luther of Hinduism
Veera Tamil Annai

LoMMRIGETTel &NBH6T
&ifle6d LDevOT

BIMDE FTemeEDSH6IT
s SrufedGeu
19.83. ShIT. §. 6T60.

Mangrove forest
Black soil
Village roads
Central Railway
T.LR.O.S.

— England

— Swami Dayanandha Saraswathi
— Mussolini’s followers

— Germany

— Dr. Muthulakshmi Reddy

— Dr. S. Dharmambal

— Secret Police of Mussolini
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Panchayat

Mountain forests
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Systamatic aerial images
Sundarban
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9fley - 11/ SECTION - 11

(08 Queirsser : 20) / (MARKS : 20)

10 x2=20

uggl- 1o mrerg flarrssear, uggl- 1led @w alarr, uggl- 1lleéd Bsrarg oflarmsser,

uggl- IVed e eflarraw Csiay ClFwis.

Answer any TEN of the following questions in brief :

Choose four from Part I, one from Part I, four from Par III & one from Part IV

u@d -1/ PART -1

gHEMSUSSUID EUenTWIN).

Define Imperialism.

PO 2 sl GUMIHESTET 2 L 60TIes SMI600TLD WINg|?

What was the immediate cause of the First World War?

undlsd CaHMedTmIEUSHSNETT ST EUOTRIGET WITEWEN?

Trace the reasons for the rise of Facism.



(19)

(20)

e2))

(22)

(23)

24

265 HBseT FeoLulen poduwl CHMSSMIGET WIMenel?
What are the main objectives of the U.N.O?
elasGLmflwn engreofiiufeor Gupnsensule (PpesSWISHSEIEUD Wng?
Mention the importance of Queen Victoria’s proclamation.
DLDLDEBT60T FemLILTET OBMETENSHEET WITEEU?
Mention the main principles of the Theosophical Society.
SMDIEN HEOSBLLL LeotliseT UDMlS GO 6lemTs.
Write a note on the welfare measures taken by Kamaraj.
oM emeussd 6l 6760 g6l SleMLPSSLILILLIT?
Why do we call Periyar as “Vaikam Hero”?
uggl — 11 / PART - 11
2 & SlenBenll BenebGeudsd Shwineledr Lmiens efensds.

Mention the importance aspects of India’s policy for promoting peace.

(25) mE UGS EUDSE&MIGET LDOHMILD UMFUMWILD eraleumml ehmienLDenw! eU6TT&SEnSI?

(26)

@7n

(28)

29

(30

€2))

How do our customs, habits and heritage help to maintain unity?

uggl — 111 / PART - 111
8rdBuwis sneobeneoenw [Bieooruls@Ld snyevolisefedn QLWITEED6T 6NLPSIS.
Name the factors determining the climate of India.
8rduneier e Suwihens SlewmwliL Lifleyser Wwinemeu?
What are the main physical divisions of India?
8pdwnefed emweHsT 2 PUSS ShSLD SLMISET Wemeu?
Name the mica producing area of India.
8ipdwneledr GeueNTevor SHTEDIRIEET WIMEDeN?

Name the agricultural seasons in India.
&600T6D GIIMIHL&EET WIMEmEU?

What are the by products of jute industry.
Liledrefiulied &Ll6)Y 6TedTDNED 6TE0T60T?

What is meant by pollution due to e-waste?

(32) mmeued GUTBGEUTSHS! GUEDEOIEHLDLINCDT [HEOTEMLDEET WIMEDEU?

(33)

What are the advantages of communication network?
C\BTEMED [HIETOTEUN)ETDTITEY 6TEDTMITED  6TEOTEDT?

What is meant by remotesensing?



uggdl — IV /| PART -1V
(34) m60M EUHLDMEVILD 6TEOTMITED 6TEOTE0T?
What is percapita income?
(35) sUlpmer GuUIsGaISS POTGOTDODLD EPiss ANIGHIIY eenTs.

Write a note on transport system in Tamilnadu.

9fley - 111/ SECTION - 111
(8luCuersser : 8) /| (MARKS : 8)
gCsgd wrerdlener CoumiLBSS1s% HrL (BHs: 4x2=8
Distinguish between any FOUR of the following :
(36) &feties Siss Gmud - SHHws S LGHILD
GMT and IST.
(37) Gun® QsMLTEd ewed - SLpsHE QOSHMLITES LDeweD.
Western Ghats and Eastern Ghats.
(38) smpm| F88 OHMID SleTed LBledT 5868
Wind energy and thermal energy.
(39) ysINEss &nlgwl euembd - LSILILNGES (LPIRWINS 6U6MLD.
Renewable resource and non-renewable resource.
(40) GsmewmL wOMID Gefismeol LulTssT - GeumiLGSSHIS.
Kharif and Rabi crops.
(41) smbm| LOMFEMLSHE - 660l LDMEFEMLSED.
Air pollution — Noise pollution.
(42) o2 emmM(B euettfisD - LEDTEOTTL(B 660Tfl&LD
Internal trade — International trade.
(43) smemev auPl - Spufed eu.
Roadways and Railways.

9fley - IV / SECTION -1V

(w8luCluerser : 8) / (MARKS : 8)
SPSHSETL SwLIL @ yetTipemer CFiirb6lsHSS 2x4=8
Yumpler Yewearsg eaTrssErsGLw aflenL weaflssayw.
Choose any TWO of the following and answer all the questions given under each caption :
(44) FpiCssF FrsD
@) sFralss smasING Wt Conerplil Fleo &TeuCHs SlemDLILIB6T QLIWITEHEWET 6T(LDSIS.
&) sMaUlsHs FRBHHET HEWEDEMLDWIHLD 6MMRIG OIEWLDHSHIETENE?
@) 2 miy BErEs6T SHE6T LNpFFnaTHEnsEE 6eeleumm Siey srevor GeuetorBLD?

)  sguunedt erliGuUNgl LDEhgsMmemens emsLILDIILISI?
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(45)

(46)

47

League of Nations

(a) Name the organisation which were found before the Legue of Nations.
(b)  Where was the League of Nation’s headquarters situated?

(¢)  How should the member nations solve the problems?

(d)  When did Japan capture Manchuria?

gmrisefler 1o epab6lasedL

©) gmeamduld CsimHed eLaumpS HeoLOLDDEI?

(&) Jpnisefiedr 1 eHEDEIEUEDL. ETEIENTM] SHEWLPSSLILILLIT?

®) oarg Gz Onflsems wng?

(™) Sleum 2 _mHeunsHw 6\&MeTenaUIET EWLIWIT 6T60T60T?

Franklin D.Roosevelt

(@) When was the President election held?

(b) How was Franklin D. Roosevelt commonly known as?
(c)  What was his election manifesto?

(d) Name the policy formulated by him.

Slgibio FOTYLD

(©) U soMgsSems Boyedfiuieur wimr?

©) Sprgngnd Gonsedtymil LuledTD QLDLPISET Wimemeu?
®) @ynmmpmbd GneeToNl TSl LSSSMISET Wmemeu?

) b &NBSHe0T HLOLGEDS WIMSI?

Brahmo Samaj

(a) Who founded Brahmo Samaj?

(b)  What were the languages learnt by Raja Ram Mohan Roy?
(¢)  Name the books written by Raja Ram Mohan Roy.

(d)  What did Braho Samaj believe?

reSlwetr eumrerLms: LB 6 men e

©) ewsH QFULWILLLL (LPSHEBWILDTEDT HEMEDEUTSHET WITT?
(©b) |LDESET 6ITRIG &nleeDTiT?

@) osuwlissradenn SpmiIEen Spnemiey Hemud wmi?

™) Suelibsumnsd Snenl QLSS 6T60T60T?

Jallian Wala Bagh Tragedy

(a)  Who were the prominent leaders arrested?

(b)  Where did the people gather?

(c)  Who was the British military commander of Amritsar?

(d)  What did Rabindranath Tagore do?



9Mley - V/SECTION -V

(w8luCluerssar : 20) / (MARKS : 20)

@6Gleurys eflerm erevorenfleyd 2 _eirer epeairmy eflerrdsafled spetrmlenesrs Coiiey GClFUiG
Brere efleTnssErds@ aflewL weaflsEeay.

Answer all the four questions by selecting one option from each question number :
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(50)
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uggl —1 / PART -1
WpCsmedlenll HemevemLDUNEd LITHAFLD LIEDLES &FTHEMEDIHET LITemeN?
(Siebeog)
Spmodmegetor LSBT QFwedLITBEemen efieurfl.
(Siebeog)

Cafl Swssbd CHMETMIUSDHETET LHG HNTCTORISEDEN Fnl)sH.

What were the achievements of Facism under Mussolini?
(OR)

Explain the activities of the Rama Krishna Mission.
(OR)

Write any five factors that promoted the rise of national movement.

uggl — 11 / PART - 11
Leh&feolD LDHMILD SNevoliBepne esmeTems LD 6TLpEIs.
(Siebeog)

GeupmiemnLouflsd ebmienbenit LFMDLiLSed wmpl woHnibd Sesdulbd eeleumm 2 gei

YleBeoTmenT eTedTLIEmS 61Nl6E 6.
(Si6beog1)
HsTEaUTemIL UNSIenss SIps Slps GLoneETvoTBeTen HLEUIRSENHSET WNeneu?
Write a paragraphg about Panchasheel and the policy of Non-Alignment.
(OR)
Explain how do language and literature help to maintain unity in diversity.
(OR)
What are the measures taken by the Government of Tamilnadu to protect the consumers?
uggl — 111 / PART - 111
SowIbemessT 2 dheurer ellgsdemet eleurl.
(Sisbeog))
8P Geuenmevor OFHMPIEOED 2 _6iten LATFFEDEOTEET WIT6m6U?
(Sisbeog))
CIBMEMED [HI6TOTEIMIE00TITEY [HIL LSBT esn@Saenen efeurfl.
8
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(a)  Explain the origins of the Himalayas.
(OR)

(b)  Discuss the current challenges in Indian agriculture.
(OR)

(c)  Explaining the various components of remote sensing.

uggl — IV / PART -1V
(51) (©) pMB auEHLNaTSmS Sinfleusetr Sleudwibd wing?
(Sisbeog))
@) 1991&pb Syevongstr endpemsy FTHEoHsH5ms efeur.
(Siebeog1)
®) sUOlpmrLiger Wlearssd SiLmisenst eeurl.
(a)  Explain the need for the study of national income.
(OR)
(b)  Explain economic reforms of 1991.
(OR)
(c)  Explain the various power programmes in Tamilnadu.
9Mley - VI/ SECTION - VI
(3L1Cuerser : 5) / (MARKS : 5)
SP& %L UDLS G BTVECHTH 6D TSH: o)
Draw a time line on the following :
(52) 1905 @pged 19308pb SpevorB&HET UMD HEMLOUDD THTEUS &hHSH (PSS BHLDeS6.
Any five important events between the years 1905 to 1930.
9fley - VII/ SECTION - VII
(glLCuemrssar : 15) / (MARKS : 15)
suenyLL efleorm&&er / Map questions
(53) &) AW euemILLSHD SLpEE6E00IL. SLRIGEMET SMISSLD. ®)
(1) emnmRismmrl (i) wmIGsmedlwm  (iii) guunedr  (iv) Sews (v) &eornt
(a)  Mark the following places in the given outline map of Asia.
(1) Hongkong  (ii) Mongolia (iii) Japan (iv) Tibet (v) China
(&eoeog) / (OR)
&) 8B auempuLsHD SLpssero. SLMISEnsT GDSEa|LD.
(i) eededl  (ii) SlevsMums (iii) egerfl egengn  (iv) Geusngevorwidb (V) By
(b)  Mark the following in the given outline map of India.
(1) Delhi (ii) Allahabad (iii) Chauri Chaura (iv) Vedaranyam (v) Meerut

9



(54) esn@ssiULL SHSW euempULSHD gCHEID LSS

SUMGSIILD 6T(LDSIS :

@
(i)
(iii)
(iv)
)
(vi)
(vii)
(viii)
(ix)
)
(xi)
(xii)
(xiii)
(xiv)

(xv)

LD6Y6TOTL. 6TEUATEDL

Gangmeurfl

LD6WED  LDEDOT

SOILDEMLIEDd Beossifl euend &mevorlLBL &LLb
e @pPwnefled &pLbL eflemenjd &LLb
ELDEIGQL LT

&Teu@sH& efiomeot [BemedlLILD

ST LIMEmEDEUEDTLD

uns  BrilemevorLiy

DN600TT &L.&

SHRIWS SHM)

SIHSIENCTTE HNBSH6IT

8npdwneled Canglemd eflemerujd &LLb

& MSLILIL IR6DTLD

SLmseT / ugdser GSOUUILG @
10

(pLDEDL - QBTEDSESHST 6UemT 2 6o &uied LMens

Mark any TEN places / regions on the given India outline map and write one sentence about
the place:

@
(i)
(iii)
(iv)
)
(vi)
(vii)
(viii)
(ix)
)
(xi)
(xii)
(xiii)
(xiv)

(xv)

Mt. Everest

Godavari

Mountain soil

Coal resources place in Tamilnadu
Wheat growing area in North India.
Jamshedpur

Mark one international airport
Thar Desert

Palk-Straight

Rana Cutch

Ganges

Sundarbans

Wheat cultivation area
Vishakapattinam

Mumbai-Kolkata Railway lines
10



